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Question Number : 1 Question Id : 9679471011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the following words in logical order:
stomach, mouth, food pipe, large intestine, small intestine

Options :

1. ¥ mouth, food pipe, stomach, small intestine, large intestine
2. # mouth, food pipe, stomach, large intestine, small intestine
3. % mouth, food pipe, small intestine, stomach, large intestine

4. # mouth, stomach, food pipe, small intestine, large intestine

Question Number : 1 Question Id : 9679471011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafafad wec) &) difde 0 H caafyd &3
Ue, 4g, Yo -, g8ard, &

Options :

1. ¢ Hg, HIoH 7l Ue, &g, §gara

2. % Hg, YIoH Tell, Ue, g8ard, &&=

3. % g, Yo Tdll, &&i,U¢, §8ard

4. % g, Ue, Yo T, &g, Jgara

Question Number : 2 Question Id : 9679471012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Covaxin
2. # Covishield
3. # Sputnik

4. ¥ Delta Plus

Question Number : 2 Question Id : 9679471012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u T fawedl § 9, i T (i a8id 3 90 81 g1aiih, U fadbed o ofiF &1 R 7ol o | 39 fddhed &1 9= HX Sl 39 J SfefT 5|
Options :

1. % PIdadA

2. % PHifaRiies

3. % WdHD

4. ¢ SN

Question Number : 3 Question Id : 9679471013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Arrange the following in logical order:
Joining, HR interview, Technical interview, Offer Letter, Managerial interview, Application.

Options :

1. ¥ Managerial interview, Technical interview, Application, HR interview, Offer letter, Joining
2. % Application, Joining, HR interview, Technical interview, Managerial interview, Offer letter
3. # Application, Managerial interview, Offer Letter, Technical interview, HR interview, Joining

4. ¥ Application, Technical interview, Managerial interview, HR interview, Offer letter, Joining

Question Number : 3 Question Id : 9679471013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & aifde 9§ cgafeyd &1

fgfdd, HR &P R, dh-iiep! AI&TH R, YKTd U, UaUDH 1g IETH R, SHTae |
Options :

1. % U FETDHR, db11d| I&TDHR, A, HR HI&Teh R, Udrd ua, Fgfad
2. % 3f1ded, Fgfad, HR AHTHR, TH-1dh] W@ R, TEe®D g &R, Tdd U
3. % 3{[daH, UEYDIT TETDHR, YT U, db-1db! TETehR, HR FETDHR, Hgfad
4. ¥ 31dGH, AH-Id] WETDR, Tt g HI&TDHR, HR HI&Th R, Udrd U3, fFgfad

Question Number : 4 Question Id : 9679471014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing letter in the series:
AC,GM, U,

Options :

1. %V

2.¥E

3.%7

4. %Y

Question Number : 4 Question Id : 9679471014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T | I 31ER I B

AC G MU,

Options :

1. %V

2.¥E

3.% 7

4. %Y

Question Number : 5 Question Id : 9679471015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Furniture : Wood :: Bridge : ?

Options :

1. % Iron

2. % Ore

3. % Aluminium

4. % Screw

Question Number : 5 Question Id : 9679471015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S e 1 77 B ol IR U J I ThR J Taid g Ford TR § g1 Ue Ugd Ug ¥ efid 7
bR dd ol :: Yoi: ?

Options :

1. ¢ gl

2. % HYIh

3. % Togiafg

4. % Uqg




Question Number : 6 Question Id : 9679471016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # ACEG
2. ¥ XZAC
3. ¥ HILN
4. % 0OQSU

Question Number : 6 Question Id : 9679471016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, o Td i3 dRih ¥ T8 § | gTallich, T [ddhed o i $I TRE -Tal 6| 3% fadhed HI Ia B ofl 30 J 3T ¢ |
Options :

1. % ACEG

2. % XZAC

3. ¥ HILN

4. % 0QSU

Question Number : 7 Question Id : 9679471017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # 2881
2. % 3983
3. % 6852
4.9 2782



Question Number : 7 Question Id : 9679471017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, i U i3 @RI ¥ 90 § | gTallich, T [ddhed o i $I TRE -Tal 6| 3% fAdhed HI Ia B off 30 J 3T ¢ |
Options :

1. % 2881

2. % 3983

3. % 6852

4.+ 2782

Question Number : 8 Question Id : 9679471018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % Kerala : Malayalam
2. % Goa : Goan

3. # Telangana : Telugu

4. ® Maharashtra : Marathi

Question Number : 8 Question Id : 9679471018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fiwedl A 9, 7 ve FRfYa % T 9= 81 g1, U fadhey 3 9 &t e el ¢ | 39 fAhed 1 T8 B off 310 (e 5|

Options :

1. % Bl : HAATeH
2.« Tal - M3E

3. % Wa@l
4. % HGRIY : TR1AT

Question Number : 9 Question Id : 9679471019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the four options choose the word which has the same relationship as the following:
Sun Pharma, Dr Reddy, Pfizer

Options :

1. ¥ Cipla

2. % Palmolive
3. % Unilever
4. % ITC

Question Number : 9 Question Id : 9679471019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fadmedl & ¥ 3 Teg BT 9T HX Foreh] HHIIRId & ol THH HaY &:
T T, BTG, BIEoR

Options :

1.« TRy

2. % greHIeld

3. % TR

4. % ITC

Question Number : 10 Question Id : 9679471020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the four options choose the word which has the same relationship as the following:
Aadhar, PAN, Voter ID

Options :

1. # Medicine Bill

2. % Amazon Voucher
3. ¥ Driving License
4. ¥ Food Bill



Question Number : 10 Question Id : 9679471020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fadhedl o ¥ I Tsg BT 99 $X forgepT FEfIRad & o1 90 e &:
3YR, PAN, dIe ID

Options :

1. % GaTR &I fad

2. % THANH a8

3. ¢ Srafdi A

4. % G foe

Question Number : 11 Question Id : 9679471021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
BHARATNATYAM : EIBSBUOBUZBP :: KATHAK : ?

Options :

1. ¥ NBUIBN
2. % LBUIBL
3. ¥ LBBUIN
4. ¥ NBUIBL

Question Number : 11 Question Id : 9679471021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S el Ue I I UHR ¥ A&fd § o TR ¥ gkl UE Ugd U & Hafdd g
BHARATNATYAM : EIBSBUOBUZBP :: KATHAK : ?

Options :

1. ¥ NBUIBN
2. % LBUIBL
3. ¥ LBBUIN
4. % NBUIBL




Question Number : 12 Question Id : 9679471022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the four options choose the word which has the same relationship as the following:
WINDOWS, LINUX, UNIX,

Options :

1. ¥ ANDROID OS

2. % BLACKBERRY OS
3. % macOS

4. % i0S

Question Number : 12 Question Id : 9679471022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR [l & T I Usg BT 797 B forgep1 fRgferad & oar g9 96 8:

WINDOWS, LINUX, UNIX,
Options :

1. % TSISS OS (ANDROID OS)

2. % sAHIRI 0S (BLACKBERRY OS)
3. ¢ AHOS (macOS)

4. % i0S

Question Number : 13 Question Id : 9679471023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'SAFETY" is written as 'TBGFUZ'. How would 'GENTLE' be written in that same code language?
Options :

1. ¥ HFMVOF

2. % HFVOMF

3. ¥ HFOUMF

4. % HFMUNF



Question Number : 13 Question Id : 9679471023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Ay ®Ig WIS H, 'SAFETY' &1 'TBGFUZ' & U H for@r a1 81 I8 BIs HIST H 'GENTLE' 1 o forar siraem?
Options :

1. # HFMVOF

2. # HFVOMF

3. ¥ HFOUMF

4. ¥ HFMUNF

Question Number : 14 Question Id : 9679471024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'TOIL' is coded as '7-12-18-15', then how will you code 'HARDWARE'?
Options :

1. ¥ 19-26-9-23-4-26-9-22

2. % 19-26-9-23-4-22-9-26

3. % 19-23-9-23-4-22-9-27

4, % 19-26-11-23-4-22-7-26

Question Number : 14 Question Id : 9679471024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 'TOIL' &1 '7-12-18-15' & U T SIfSd a1 TT &, Al 3T HARDWARE' B ol DIS Bl
Options :

1. ¥ 19-26-9-23-4-26-9-22

2. ®% 19-26-9-23-4-22-9-26

3. % 19-23-9-23-4-22-9-27

4. % 19-26-11-23-4-22-7-26

Question Number : 15 Question Id : 9679471025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, '256' means 'Don't give up', '469' means 'Don't surrender easily' and '732' means 'Give your best'. Which of the
following is the code for 'up'?

Options :
1. %2
2.% 6
3.% 7
4. 95

Question Number : 15 Question Id : 9679471025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh e B HINT ff, '256' DhI 3‘[’<’-f% 'Don't give up', '469' DI G‘Rf% 'Don't surrender easily' 3‘ﬁ? 732" Db 3‘[’&% 'Give your best'| ﬁ’gﬁﬂ:@ﬁ oy
'up' & ﬁ"l'q SIS %?

Options :

1. %2

2.% 6

3.% 7

4. 95

Question Number : 16 Question Id : 9679471026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word "TRANSLATIONS' is coded as 'NARTSLTASNOI' in a certain code language. How is 'ABBREVIATION' coded in the same code
language?

Options :

1. * RBBAEVIATION

2. ¥ RBBAEVAINOIT

3. ¥ RBBANOITEVAI

4. % RBBAEVNOITAI



Question Number : 16 Question Id : 9679471026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT PIS HINT H TRANSLATIONS' g I 'NARTSLTASNOI' & 30 H SifSd a1 71 8 | THM Big U & 'ABBREVIATION' 1
I Hifed fpar mar g?

Options :

1. ¥ RBBAEVIATION
2. ¥ RBBAEVAINOIT
3. ¥ RBBANOITEVAI
4. % RBBAEVNOITAI

Question Number : 17 Question Id : 9679471027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Introducing Shaleni, Shanaya said, "She is the only daughter of my father's only daughter". How is Shanaya related to Shaleni?
Options :

1. # Mother's Sister

2. ¥ Mother

3. % Mother's mother

4. ¥ Father's sister's daughter

Question Number : 17 Question Id : 9679471027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 1 URET HRIG U AT 3 BT, I8 TR a1 31 3haidl i B 3! T 8 1" T, et ¥ H Jaird 32
Options :

1. % HId1 D1 g5

2. % HIdl

3. % W11 1 AT

4. % {1 §g4 DI &l

Question Number : 18 Question Id : 9679471028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

M, N, O, P, Q, R are six friends who are sitting in a circle facing the centre. M and N are facing each other and so is O and P. Q sits at the
immediate left of M. R is at the immediate right of O. Who amongst the following is sitting to the left of N?

Options :
l.* P
2.%Q
3.0
4. ¥ R

Question Number : 18 Question Id : 9679471028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M,N,0,P,Q,RTBE A E N TH A H hx DI IR TE HD a0 ¢ | M 3R N FHT W Th gk &1 AR g AR TA g o iR pH14fi g1 Q, M
FH P ALHATBIEIR, 0P 3P e A dol gl FEfafRad F I DA N & I H doT 72




Options :
1. %P
2.%Q
3.0
4. ¥ R

Question Number : 19 Question Id : 9679471029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nida, Karim, Abdul, Syed are different persons. Syed is the father of Karim. Nida is the daughter of Abdul and Abdul is the son of Syed. If
Mabhir is the son of Abdul and Armaan is the brother of Mabhir, then:

Options :

1. # Armaan and Abdul are brothers
2. ¥ Nida is the sister of Armaan

3. % Syed is the uncle of Armaan

4. # Karim and Nida are siblings

Question Number : 19 Question Id : 9679471029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, 789, srsga, Sua SferT-ofe i 81 dae 3 &1 i 81 el sfegd 31 T R 9k s1sgel 9 &1 47 711 9 AR Sfeged 1 T



2 3R SRAM HIfgR BT WIS 8,
Options :

1. % 3R 3R 3fegel HIS &
2. ¢ a1 SRUF B S84 ¢

3. % JUG 3R BT AT §

4. % HAA R AT g T8 8

Question Number : 20 Question Id : 9679471030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight friends, A, B, C, D, E, F, G, H, are sitting around a circular table:
A is sitting to the immediate left of B

C is sitting opposite of B

D is sitting to the immediate right of C

E is sitting to the immediate right of B

F cannot sit adjacent to A or C

G wants to sit away from A

Who is sitting to the immediate right of D?

Cc

Options :
1.¥ H
2. % F
3.% G
4. % A



Question Number : 20 Question Id : 9679471030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
316 fi, A, B, C, D, E, F, G, H, U&% UIHR U9 & IRl 3R 93 &:
A, BFH 3B IWHEST &
C,B ¥ Aurdid da1®
D,CH3H AN AT
E,BHoIb U H 3T
F, AT C & 919 & 78] 96 Tabal
G, AT RIS IRATR
D % 31 a4 H DI 93182
E

Cc

Options :
1.¥H
2. % F
3. G
4. % A

General Ability2

Group Number : 2
Group Id : 96794752



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 96794752

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 96794762

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679471031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Below is given a statement and two conclusions that may or may not follow from the statement. Select the correct choice:

Statement : Instances of Triple Talaq are not uncommon in the country.

Conclusion 1 : Despite the strict laws against triple talaq, it continues to happen in the country.
Conclusion 2 : The punishment inflicted for triple talaq is not sufficient to stop it.

Options :
1. #* Only conclusion 1 follows

2. % Only conclusion 2 follows



3. ¥ Both the conclusions follow

4. % None of the conclusion follow

Question Number : 21 Question Id : 9679471031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T FYF 3R 3 e AU U § Ot Y- T SIIIRUI R Uahd ¢ 1 el Hl R Tabd g | Tg! fadhed &1 99+ &
HYT : ST A qAID D ITERUN I T8l & |

sy 1: <fi T & RIaTs T ST & STas[E ¥ H YT |l TET B
fosepyf 2 : <fi aaTe & forg < 1S ot 39 A & fote Tai R B
Options :

1. % Had FT5HY 1 IR0 HRAT &

2. % Had HY 2 IR Hl §

3. ¢ G FIhY BRI aRd &

4. % DIz W} FIopY SR 8 R §

Question Number : 22 Question Id : 9679471032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Below is given a statement and two conclusions that may or may not follow from the statement. Select the correct choice :

Statements : Some Planes are expensive. All expensive things are hard to buy.

Conclusionl : Some planes are hard to buy.
Conclusion2 : All planes are hard to buy.

Options :

1. # Only conclusion 2 follows

2. % Both the conclusions follow
3. # None of the conclusion follow

4. % Only conclusion 1 follows



Question Number : 22 Question Id : 9679471032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T HYF SR & e U U § Ot - T SRRV R Tahd ¢ 1 1ol Ul HR Tabd g | U5 [adhed &1 9g- @
HYF : TS [qUH 7 g | I AEet i Wi gitwd g

frpy| : $& foum wieT glRea g |
frep . uft fammt &) Wi i |

Options :

1. % $Had [T5HY 2 IR0 HRAT &

2. % N fFspY SrERUI ARa §

3. % P1g o} Fropy SrqERur T8 el §
4.« Haq (5B | TRV HAT &

Question Number : 23 Question Id : 9679471033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Below is given a statement and two assumptions that may or may not be implicit in the statement. Select the correct choice:

Statement : Gender discrimination can be eliminated by the actions of the government and society.

Assumption 1 : Gender Discrimination is a man made phenomenon.
Assumption 2 : No person will voluntarily allow a woman to succeed in her career.

Options :

1. ¥ Only assumption 1 is implicit
2. % Only assumption 2 is implicit
3. ¥ Both assumptions are implicit

4. % None of the assumptions are implicit

Question Number : 23 Question Id : 9679471033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T Y 3R Gl YROME <1 1S & Y ey H g 8 Wt Il § oMk Tt i 81 Iohdt &1 Iet fadh ey 1 T Y-




BHYT : PR 3R AN & S} F s NgHTd & JHI fHaT St har g |

YRUN1 : ARTe HeHTd T A fAfifd aRee ]|

YRUM? : His 1 e a1 ¥ fordlt Afee &1 IUh BRI T Yhd 11 HI SR el &
Options :

1. ¢ %aq yrRo | fAfed @

2. % PHaq yron 2 fAfgd ®

3. % g yromy fAfga 8

4. % oz W yron fAfed 781 8

Question Number : 24 Question Id : 9679471034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Below is given a statement and two Arguments that may or may not be strong arguments in support of/against the statement. Select the correct
choice:

Statement: Should there be only one interest rate for varying durations of a Recurring deposit (RD)?

Argument 1 : No, this should not happen because people will then not have the incentive to make RDs for longer duration leading to liquidity
crunch for the bank.
Argument 2 : Yes, this should happen as it will make it simpler for the people and they may be encouraged to log more money in banks.

Options :

1. ¥ Only Argument 1 is strong
2. % Only Argument 2 is strong
3. ¥ Both Arguments are strong

4. ® None of the Arguments strong

Question Number : 24 Question Id : 9679471034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T HYF SR 3 d% AT MU § Sl Hu o T H/fave Hoigd do g1 Hf 9ahd § SR 781 o 81 9o & | Te! fadhed &1 7o &
HY: FT 3Tac STHT BT -3 3fafd & T Hadt Th ool &2 gH1 A1q?




%%qa%%wﬁmm%umﬂ%aaaﬁ%wﬁm%mmwm$mmﬁmm%$WWﬁ
|

e 2 : 8T, U7 811 =1feT i S99 A o foie I8 3 8 SEen iR 3% Sl H 31f¥es ¢ o1 - & fore dienfed fovan o awan g1
Options :

1. Had do | Jol9d §

2. % Had do 2 Hogd §

3. % QI a9 Holgd &

4. % DIz Wt Ib Iolgd T8l §

Question Number : 25 Question Id : 9679471035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number from the series:
98,91, 84 , 70, 63

Options :
1. % 73
2.9 77
3. %75
4, % 72

9

Question Number : 25 Question Id : 9679471035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o ¥ o IRSAT 1 B
98,91,84,  ,70,63

Options :

1. % 73

2.9 77

3. % 75

4. % 72



Question Number : 26 Question Id : 9679471036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number from the series:
1/1.1, 1/1.21, 1/1.331, 1/1.4641,

Options :

1. ¥ 1/1.61051
2. % 1/1.771561
3. % 1/1.8757
4. % 1/1.5689

Question Number : 26 Question Id : 9679471036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rt T I I AT 1 Dy

1/1.1, 1/1.21, 1/1.331, 1/1.4641,
Options :

1. ¥ 1/1.61051

2. % 1/1.771561

3. % 1/1.8757

4. % 1/1.5689

Question Number : 27 Question Id : 9679471037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number from the series:
0, 3,8, 15, , 35

Options :
1. % 22
2. % 26
3. % 28
4. 24



Question Number : 27 Question Id : 9679471037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR T I I AT 1 DY
0,3,8,15, ,35

Options :

1. # 22

2. % 26

3. % 28

4.9 24

Question Number : 28 Question Id : 9679471038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong number from the series:
7,77, 567,3990, 28007, 196077

Options :
1. % 3990
2. % 567
3. % 28007
4. % 196077

Question Number : 28 Question Id : 9679471038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 T 3§ TcTd ST A1 DY:
7,77, 567, 3990, 28007, 196077

Options :
1. ¥ 3990
2. % 567
3. % 28007
4. % 196077




Question Number : 29 Question Id : 9679471039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Social Science, Civics, Physics?
Options :

Social
Science

Physics

2. 8

Social
Science

Physics



Social
Science

Question Number : 29 Question Id : 9679471039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafeiRad & @ o1 91 9 3@ e g, RS TR, Kiide! & dia & Tae DI Ja 33T a2idl 82

Options :

4.9

HIATHS

IEEIG]
1. #

A& Eﬂ'ﬁﬁ AN
2. %



3. %
AT AS
CEIGE
(me)
A
AMEA
4.

Question Number : 30 Question Id : 9679471040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Indirect tax, GST, Compensation cess, Income tax?
Options :

Indirect tax

GST O—) Income tax

Compensation cess
1.



Indirect tax

GST Income tax
) % Compensation cess
Indirect tax
GST
Income tax

Compensation cess

3. %
Indirect tax
Compensation oot Income tax
4% cess

Question Number : 30 Question Id : 9679471040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed & @ 19 T 97 3G ATU B, GST, FHTAST SUBR, SATTBR b dld P JoY Pl Tad 33T 3T 82

Options :



HAAET hd
GST Q—’-3q b

L& H3MASAT 39HT

TICTET Y

GST FTIhT

H3G AT 39T

IHUCTET T
GST

3TTEehY

HATIAT 39hT

HIAAET &=l
Em GST FTchy
IR

Question Number : 31 Question Id : 9679471041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. %

4, %



For the batch of 2021 in an MBA College, 800 candidates were admitted. Of the total candidates, some opted for MBA in Finance, some for
MBA in Marketing, few for dual course in Finance & Marketing and remaining opted for Human Resources. From the figure given below find

out how many opted for MBA in Human Resources?

800

MBA in MBA in

Marketing Finance
200 550

|' | 120 |

Options :
1. ¥ 170
2. % 480
3. % 250
4, % 50

Question Number : 31 Question Id : 9679471041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U%h MBA FEIGEad # 2021 & 99 & g, 800 IR{IGaR] 3 Uaw foran Tl o SHHGaRI # 9,

pe - fo § MBA & fdeed &1 9 fopa,

$ - fAUUH & MBA, $© 7 fax 3R faUuE & S8R Uiy & AT 3R A A A T4 &
1A B & foam @ = A9 TareA & MBA & faded o1 w0 fsar g2

qehed o1 994 forar | e & TS s ¥



800

faworer & B &

MBA MBA
200 550

Options :
1. ¥ 170
2. % 480
3. % 250
4. % 50

Question Number : 32 Question Id : 9679471042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the figure, identify the number of Engineers who are PHD holders but not MBA?

10 ENGINEER
foo\
60 \°
<—— MBA
70

30
/ 20 \s— PH.D




Options :
1. * 10
2. %20
3. % 30
4. % 40

Question Number : 32 Question Id : 9679471042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P &, I AT B AT DI UM HX ol PHD YRS g eI MBA 7ol &2

10 FAEATEar
oo\
60

3
< MBA
70

30
/ 20 \5— PH.D

Options :
1. * 10
2. %20
3. % 30
4.9 40

Question Number : 33 Question Id : 9679471043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the four figures in the diagram, three are similar in a certain manner. However, one figure is NOT like the other three. Select the option
which is different from the rest.



1P~

(1) (2) (3) (4)
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 33 Question Id : 9679471043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Qﬂ%awewﬁm‘fﬁ@reﬂqwﬁ@ﬁ i A GHM B | BTdiifoh, b SATHTd 3= A 1 ke ol o | 39 [Abed &1 a0 B ot 39 9
AT R

1P~

(1) (2) (3) (4)
Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 34 Question Id : 9679471044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right



of the problem figures, if the sequence were to be continued:

a BB alY A

?
¥ AlA ¥|a B
(1 2) i i
Options :
) W
LeP__d
B L
a A
T A
4 %|B «a

Question Number : 34 Question Id : 9679471044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 T2 T YEE U SIehH BT STERU HRd! ¢ | SR Hal &1 Gl o I et faswed o1 99 oY, S U pfad & amd 3R
WET%Q,@&WWT@TW%

a BB 9ol A

¥ A|lA ¥|a B
(1) 2) 3 (4)
Options :




AT
L.
B ¥
a A
Y A
4 %P a

Question Number : 35 Question Id : 9679471045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right
of the problem figures, if the sequence were to be continued:

AP BQ|BQ AP| QA PB| PB QA )| BQ AP ?

Options :

QA PB




AP QB
2. ®

AP  BQ
3.¢

QA BP
4, %

Question Number : 35 Question Id : 9679471045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3 € 1S ST 4T U SIHH BT SIERUI Hcil & | ITR APl &1 Gl H 4 el [adhed &1 98- Hx, Sl Uy piadl & qid 3R
3 T1fRT, Afe Sy SR} 3T ST @:

AP BQ

BQ

AP

QA

PE

PB

QA

BQ

AP

Options :

QA

PB




AP QB
2. %

AP BQ
3.

QA BP
4, %

Question Number : 36 Question Id : 9679471046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

[T
SN o~
1 2 3 4
Options :
1. % 1
2. %2

3.% 3



4.9 4

Question Number : 36 Question Id : 9679471046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e fyewent & §, & U RfEd a8 T gHH €| 3T, Ueh [Ashed 3/ ofiF &t aRE 718 8| S fadhed &1 7= &3 il 3170 ¥ 3T B |

B
] gl
1 2 % 4
Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 37 Question Id : 9679471047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the correct water image of the word EXPERT?

EXPERT

Options :

EXbERL




EXPEEL
IXb3iB1l
3. %
| EXbEB L

Question Number : 37 Question Id : 9679471047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EXPERT ¥sg &1 ol 5d ©1d DI It 82
EXPERT

Options :

EXbERL

EXPEEL

dXb3dB 1l




EXbEKL

Question Number : 38 Question Id : 9679471048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set of three figures X,Y, Z have been given, showing a sequence in which the paper is folded and finally cut from a particular section. Below
these figures a set of answer figures showing the design which the paper actually acquires when it is unfolded are also given. You need to select
the answer figure which is closest to the unfolded piece of paper.

X
Options :
“o
1. v o
oo
2. % o
(n
3 % o m]




Question Number : 38 Question Id : 9679471048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dF SMpfaai X, Y, ztﬂ@ﬁﬂi{s’%mw% o T A 1T 7T § o w1Tet &1 JreT T § SIR 3id H U faRiy W § wrer T
g1 39 3pfaal & e IR Siepfadl &1 wg off fear man g, @w%ﬁmﬁmﬁ%ﬁﬁmaﬁﬂﬁH|54mqlmqﬁulm 61
WwwWwwm@m@w%ﬁww%aw e gl

X
Options :

.| O

oo




Question Number : 39 Question Id : 9679471049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A figure marked as a transparent sheet (X) is given and followed by four answer figures. One out of these four options resembles the figure
which is obtained by folding transparent Sheet along the dotted line. Find the answer from these figures:

A N
LA

X
Options :

K & [>D

> B

3. ¢




XX
VAN

Question Number : 39 Question Id : 9679471049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR e (x) & =u A fafed th snefa <1 112 § 3R 39% a1e IR IR enepfaar §f 718 §1 39 IR fadwen) #f § uh fawed 39
TP T T T g Sl IR e &1 foig X1 & 1 AeH: UTed &1 715 ¢ | 39 Pl & J IR J1d B

A N
LA

X
Options :

K & D

> B

3.¢




XX
VAN

4. %

Question Number : 40 Question Id : 9679471050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given figure of open dice, which closed dice represents the open one correctly?

5
316
1
2 | 4
Options
115
1. ®
21| 6
2. ®
31 4



4.9

Question Number : 40 Question Id : 9679471050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G TR 1 21 7T 3MTpia B SR, I AT S IR G TR B FE) & <= g2

5
HE

1

2 | 4
Options

1 5
1. ®
2. ®




General Awarenessl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

3
96794753
0

0
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0
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General Awarenessl

Section Id :
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Sub-Section Id :

Question Shuffling Allowed :

96794753
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1
96794763
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Question Number : 41 Question Id : 9679471051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Borgeet is a type of folk music associated with which of the following States?
Options :

1. # Arunachal Pradesh

2. % Nagaland

3. % Assam

4, % Mizoram

Question Number : 41 Question Id : 9679471051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U TR &1 Al Tiiid 8, Fafafea 7 ¥ fea s A 9e13?
Options :

1. % 3UMEd UexT

2. % NS

3.9 34H

4. % fOQIRY

Question Number : 42 Question Id : 9679471052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shyama Sangeet is Bengali devotional music dedicated to which of the following deities?
Options :

1. ¥ Kali

2. % Vishnu

3. #® Saraswati

4. # Shiva

Question Number : 42 Question Id : 9679471052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST i STl Hidk Sl ©, Fafefed & 9 few daar 1 wnfta g
Options :

1. ¢ Pt

2. % faquy

3. % TR

4. % fRrq

Question Number : 43 Question Id : 9679471053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian composer to compose a full symphony performed at the Royal Philharmonic Orchestra?
Options :

1. # A.R.Rahman

2. ¥ llaiyaraja

3. % Salil Chowdhury

4. # Chitragupt

Question Number : 43 Question Id : 9679471053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g raeRAINS Sl # ford gul Riw= & g1 B a1l Ugdl HRTd SadbR DI U1
Options :

1. % W3R, YgHH

2. ¥ FAARTST

3. % gfora 9ed

4. % AT

Question Number : 44 Question Id : 9679471054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following bands is considered to be India's first rock band?
Options :

1. ® Madhavas Rock Band

2. % Indian Ocean

3. ® Parikrama

4. ¥ Moheener Ghoraguli

Question Number : 44 Question Id : 9679471054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 O f5g ds &) YRd &1 ugdl e o8 AT Sl 82
Options :

1. % YA b oS

2. % 3¢ HENITR

3. % gRepAr

4. ¢ MgTR IRALCA

Question Number : 45 Question Id : 9679471055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Reserve Bank of India was nationalized through which of the following Acts?
Options :

1. #® The Reserve Bank of India (Second Amendment) Act,1947

2. ® The Reserve Bank of India (Amendment) Act,1951

3. % The Reserve Bank of India (Transfer to Public Ownership) Act,1948

4. ® The Reserve Bank of India (Amendment) Act,1955

Question Number : 45 Question Id : 9679471055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea o O ford siifam & arem 9 yRdha Red do &1 Iy i mn o

Options :



1. % YRdTg oTd o (GuRT =ie) Sifefam, 1947

2. % YR Rord de (I=iteq) i, 1951

3. ¢ YR ReTd d& (@rasii-e Wit § RIMTAR) Sfafam, 1948
4. % YR Rord § (Feies) iffamm, 1955

Question Number : 46 Question Id : 9679471056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these sectors received the highest jump in allocation of funds in the 2021-22 budget?
Options :

1. ¥ Healthcare

2. ® Aviation

3. ¥ Banking

4. ¥ Manufacturing

Question Number : 46 Question Id : 9679471056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 9 ford Taex DI 2021-22 & Folc T B8 & 3Mde H qa9 SA1al IS8T Bl 82
Options :

1. v WG gl

2. % fqArH

3. % dfdT

4. % fafmior

Question Number : 47 Question Id : 9679471057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following budgets was termed as the "Black Budget" being presented with a huge fiscal deficit?
Options :

1. % 1980-81



2.9 1973-74
3. % 1991-92
4. % 1997-98

Question Number : 47 Question Id : 9679471057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed # 3 frg aoic o) YR IS8T °1e & 1Y YR fbT STH aTd "siieb siofe b1 I &1 77 o
Options :

1. % 1980-81

2. ¥ 1973-74

3. % 1991-92

4. % 1997-98

Question Number : 48 Question Id : 9679471058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was the 1997-1998 budget known as the "Dream Budget"?

Options :

1. ® It liberalized rules for non-resident investments and opened up mutual funds to the private sector.
2. # It strengthened focus on poverty alleviation.

3. ¥ It lowered tax slabs of personal and corporate income tax and boosted the IT sector.

4. ® Tt raised spending on education by 34.2% and also focused on job guarantees.

Question Number : 48 Question Id : 9679471058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1997-1998 & TSIC Dl "SIH Folc" & =q H &} SITHT ST YT?

Options :

1. % 39 ffarf Fawr & forg fromt &1 IER a9 SR Foft &3 & for =g erd e @i feul
2. % YA TR I WR A dbiad fobd|




3. ¢ 3T AT 3R BIURCT TP &b PR Wd bl HH fHaT 3R 1T & B! Fgrar fean|
4. % T e R T | 34.2% B Ifg B 3R B B TR W+t ea s fopa|

Question Number : 49 Question Id : 9679471059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India's trade with which country has the largest trade deficit?
Options :

1. # United States of America

2. # Germany

3. # Japan

4. % China

Question Number : 49 Question Id : 9679471059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA $T ol G & 1Y AR § Gad 37 SATIR 912l 572
Options :

1. % Tgad I SARBT

2. % ST

3. % SO

4. 9

Question Number : 50 Question Id : 9679471060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Malaria is caused by:

Options :

1. # Bacillus cereus

2. # Salmonella typhi

3. ¥ Plasmodium Vivax



4. # Streptococcus faecalis

Question Number : 50 Question Id : 9679471060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % SRyaa W9

2. % FAHMCI CRAH!

3. ¢ WEITSTH fdaa

4. % LOIDHIHY bhpliaq

Question Number : 51 Question Id : 9679471061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hair and body sprays release which of these particles into the atmosphere?
Options :

1. ¥ Aerosols

2. % CFC's (chlorofluorocarbons)

3. % Ozone

4. % Water Vapour

Question Number : 51 Question Id : 9679471061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 3R IRR P W 377 T S T H U IR0 A DS 82
Options :

1. ¢ giRay

2. ® CFC's (GARITIRIGTE)

3. % 3N

4. ® SqdiYg




Question Number : 52 Question Id : 9679471062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A thermoset is a:

Options :

1. ® Particle which when cooled after being exposed to heat turns brittle.

2. # Particle which melts on heating beyond a certain temperature but can be reshaped.
3. ¥ Particle which can become rigid and deformed on heating and cannot be reshaped.

4. ® Particle which completely vaporises under the effects of heat and temperature.

Question Number : 52 Question Id : 9679471062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬂﬁ?%

Options :

1. % BT HEAT & AP | 3T & F1G 381 11 IR HR 81 S & |

2. % HUT SN U YT AIHAE F 31fere T Hr W fUred Srdn § dfde gH: 3R a1 S Fevdl 5|
3. ¢ BTSN TH B IR HER 3R [dFd 81 Tobdl g 3R TH:3MHR e a1 S qHha1 7 |

4. % HU S ST 3R dAYAH & THE H I e I 1Srd g1 ST g |

Question Number : 53 Question Id : 9679471063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Phloem in plants is responsible for which of the following functions?
Options :

1. ¥ Conducting foods from leaves to all other parts of the plant.

2. #® Conducting water and dissolved minerals from roots to all parts of the plant.
3. # Forming photosynthetic tissues in leaves.

4. ® Forming the supportive and protective layer over stems.

Question Number : 53 Question Id : 9679471063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o 7 weiied fFafofaa § 9 feg o 3 fore iR 72

Options :

1. ¢ O @ Qe & g g yiTt & HISH &1 I=Te BT

2. % S8 YWY o Tt UIT H O 3R Yol §T IS BT A BT
3. % Rl U UHRI-GRAYS SHad] ol |

4. % T IR GEHAD SR JRETHD IR ] HH{0T|

Question Number : 54 Question Id : 9679471064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a genetic disease?
Options :

1. ® Leprosy

2. % Typhoid

3. # Malaria

4. ¥ Haemophilia

Question Number : 54 Question Id : 9679471064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 § -9 3l AT g7
Options :

1. % HERAT

2. % 3SR

3. % ARl

4. GBI

Question Number : 55 Question Id : 9679471065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Black soil is found mostly in the:
Options :

1. ¥ Deccan region

2. % Himalayan region

3. # Gangetic plain

4. % Eastern Ghats

Question Number : 55 Question Id : 9679471065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PTelt gaT fferer g o urg ol 8 -
Options :

.  CaRp &

2. % fgamerdt &=

3. % T A

4. % gdf4gre

Question Number : 56 Question Id : 9679471066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mountain range that encloses the Thar desert from the southeast is the:
Options :

1. ¥ Aravalli Range

2. ® Shivalik Range

3. # Vindhya Range

4. ¥ Satpura Range

Question Number : 56 Question Id : 9679471066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G0-qd ¥ YR HSRIA &1 O aTell Udd 4@ &



Options :

1. ¢ 3RTac dqHTa
2. % fRrarferes gdaHTar
3. % fg=grad gddHTen

4. % FAYST YA

Question Number : 57 Question Id : 9679471067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bhavani River originates from which of the following ranges?
Options :

1. ¥ Kudurekuha Jamly

2. # Nallamala Hills

3. % Cardamom Hills

4. ¥ Nilgiri Hills

Question Number : 57 Question Id : 9679471067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yart et frofafad & 9 foy udaarer & Faadt 82
Options :

1. % HgIPHel STHa

2. % SIeHA UgTeal

3. % 3o veTisar

4.« AR ugIteai

Question Number : 58 Question Id : 9679471068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among these is not a marginal sea that shares its borders with the Indian Ocean?
Options :



1. #* Red Sea
2. ®* Persian Gulf
3. ¥ Black Sea

4. * Timor Sea

Question Number : 58 Question Id : 9679471068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

399 4 B Ui 995 a1 § ol f3=G HETNR & WY S{U-T AT F1e Bl 67
Options :

1. # el TR

2. % ORI Pl Gre!

3. ¥ PIATITR

4. % f0HR IR

Question Number : 59 Question Id : 9679471069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Mughal rulers abolished the Jizya tax that was imposed on all non-Muslims?
Options :

1. % Jehangir

2. ¥ Akbar

3. % Shah Jahan

4. % Aurangzeb

Question Number : 59 Question Id : 9679471069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20 3 ford e T = Gt TR-GIeHE! R @Y T SIfordT $R &1 JHT HR feam

Options :

1. ® SENIR




2. ¢ PR
3. % Q8 98l
4. % TS

Question Number : 60 Question Id : 9679471070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these invaders captured the Peacock Throne while plundering Northern India?
Options :

1. # Mahmud of Ghazni

2. ®% Timur

3. % Nadir Shah

4. ¥ Muhammad Ghori

Question Number : 60 Question Id : 9679471070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 9 {59 SHHUDBRT A ITRI URA B Jed §U HUR R IR dHeoll B ferdm U1
Options :

1. % HgHE Tod!

2. % famR

3. ¢ TR A8

4. % HigHS TR
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Group Number : 4
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Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
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Sub-Section Id : 96794764
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9679471071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Indian Indentured system of labour officially banned?
Options :

1. ¥ 1917

2. % 1915

3. % 1919

4. % 1920

Question Number : 61 Question Id : 9679471071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR SIS 91 YUl ®f SMIGING dR IR $a Ufasiid fovar mar o
Options :
1. 1917
2. % 1915
3. % 1919
4. % 1920

Question Number : 62 Question Id : 9679471072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Provisional Government of Free India (Azad Hind) founded?
Options :

1. ¥ 21st October, 1943

2. % 3]st October, 1943

3. % 21st October, 1942

4. % 31st October, 1942

Question Number : 62 Question Id : 9679471072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA HRA B A BICH PR (TG [37a) BT RITIAT H g8 A2
Options :

1. ¥ 21 HdgaR, 1943

2. % 31 HdaR, 1943

3. % 21 3R, 1942

4. % 31 3Hdga, 1942

Question Number : 63 Question Id : 9679471073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Berlin Committee for Indian independence, under the Zimmerman Plan was established in Germany in the year:
Options :



1. % 1905
2. % 1907
3.4 1914
4. % 1911

Question Number : 63 Question Id : 9679471073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR AISHT & dgd HRd WdadT & T s afifa &t wirg=1 S # 5 o o &1 75 oft:
Options :

1. % 1905

2. %1907

3.4 1914

4. % 1911

Question Number : 64 Question Id : 9679471074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kailash Satyarthi was awarded the Nobel Prize in 2014 in the field of:
Options :

1. # Literature

2. % Peace

3. # Chemistry

4. % Physiology

Question Number : 64 Question Id : 9679471074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR gt &I 2014 F {6 &7 T T REBR I T o1 747 -

Options :

1. % gifgd



2.« Tifd
3. % g fagm
4. % B!

Question Number : 65 Question Id : 9679471075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did A.P.J. Abdul Kalam become the first Asian to receive the Hoover Medal?
Options :

1. * 2000

2. % 2004

3. ¥ 2006

4. % 2008

Question Number : 65 Question Id : 9679471075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford oy B CUT . 3fegd S gaR Hed U HR- aral Ugall TRITS §1?
Options :

1. % 2000

2. % 2004

3. % 2006

4.+ 2008

Question Number : 66 Question Id : 9679471076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian architect to win the Pritzker Prize?
Options :

1. ¥ Balkrishna Doshi

2. # Brinda Somaya

3. % Achyut Kanvinde



4. % Chitra Vishwanath

Question Number : 66 Question Id : 9679471076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR UTS Siid- aTel Ugal HRA aRg®R HIF UT?
Options :

1. ¢ SIS IR

2. % T Il

3. % 3Ad HHAS

4. % o1 fayy

Question Number : 67 Question Id : 9679471077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahatma Gandhi was nominated for the Nobel Peace Prize 5 times. In which of the following years was he not nominated?
Options :

1. % 1947

2. % 1948

3. % 1937

4.+ 1940

Question Number : 67 Question Id : 9679471077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETA el &1 5 IR Add i RIPR & g ArHifebd foban am ot FHafeied o 9 forg ad | 3% Amifea a1 fdar mam um
Options :

1. % 1947

2. % 1948

3. % 1937

4.+ 1940



Question Number : 68 Question Id : 9679471078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these cyclones hit Maharashtra from 2-4 June 2020, causing damage along the northern coastline of the state?
Options :

1. % Cyclone Phyan

2. ¥ Cyclone Nisarga

3. ® Cyclone Vayu

4. % Cyclone Tauktae

Question Number : 68 Question Id : 9679471078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH A I 1 Iehald 2-4 T 2020 T HERIY Y THI, Fored Iy & Il YPRAC Pl ThEH g3l
Options :

1. # b dld T

2. ¢ Thard AT

3. % 9hdld d1g

4. % Fehdld dI3d

Question Number : 69 Question Id : 9679471079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 7th August 2020, the Air India Express Flight 1344 crashed at which of the following airports?
Options :

1. ¥ Kozhikode International Airport, Kerala

2. # Kannur International Airport, Kerala

3. # Trivandrum International Airport, Kerala

4. # Cochin International Airport, Kerala

Question Number : 69 Question Id : 9679471079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7 3T 2020 BT, TR ST TRTON I8M 1344 Fofoiad # ¥ foy fanmes iR gdenra 81 182
Options :

1. ¥ DISDHIS (BIolihlS)SRITH farmas, Hra

2. % PP SRIPIY fGHFE, B

3. % FdgH SIRIgH faAras, B

4. % B SRITHY famTa, B

Question Number : 70 Question Id : 9679471080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states became the first "Har Ghar Jal" state by providing 100% tap water connections in rural areas, as declared by the Jal
Shakti Ministry in 20207

Options :

1. # Sikkim

2. # Haryana
3. ¥ Goa

4. ¥ Manipur

Question Number : 70 Question Id : 9679471080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 H STd T HATAT gIRT A arior &5 § 100% T 71 U a= UeH B RYfeiRad H A S 97 Iy Ugdl "8 TR ofdl" Ied
CERIRIRS,

Options :

1. % Ryfewa

2. % giygrom

3. Tl

4. % AR



Question Number : 71 Question Id : 9679471081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the skirmishes between India and China on 15-16 June 2020, 20 personnel of the Indian Army were killed at:
Options :

1. # Kibithu

2. # Nathula

3. % Chushul

4. ¥ Galwan

Question Number : 71 Question Id : 9679471081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15-16 S 2020 BT YR 3R 99 & o9 FSUl & GRM, HRI 1 & 20 ST 15 IR LIS B 7T &:
Options :

1. % fofay

2. % AqIYcll

3. ¥ x[d

N EINCIC]

Question Number : 72 Question Id : 9679471082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the constitution deals with the relationship between the Union and the states?
Options :

1. ¥ Part XI

2. # Part XIII

3. % PartIX A

4. % Part XIV

Question Number : 72 Question Id : 9679471082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

QLT BT DI FT I Y 3R I & o Heiel J daiferd g2
Options :

1. % 4T X1

2. % YAT XIII

3. % HITIX A

4. % YA XIV

Question Number : 73 Question Id : 9679471083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of Judicial Review in the Indian constitution was inspired by the constitution of which country?
Options :

1. # United Kingdom

2. % United States of America

3. # TIreland

4. * France

Question Number : 73 Question Id : 9679471083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sfaer § =1ires Feiarn o1 favd fovd &2 o dfaer 9 oRa dio
Options :

1. % gA3cS fhreH

2. ¥ o I SR

3. % MRS

4. % g

Question Number : 74 Question Id : 9679471084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Exactly how long did it take the Constituent Assembly to formulate the Constitution?
Options :

1. #® 3 years, 11 months, 20 days

2. % 3 years, 9 months, 20 days

3. ¥ 2 years, 11 months, 18 days

4. ® 2 years, 9 months, 18 days

Question Number : 74 Question Id : 9679471084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afae o <miie aeien &t favivar fod gx1 & dfae 9 afka e
Options :

1. % 394 11 AsH, 20 fea

2. % 398, 98, 20 faA

3.¢ 29N, 11 T8, 18 fad

4. % 299 9 g, 18 faT

Question Number : 75 Question Id : 9679471085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anti-defection laws are listed in which Schedule of the Indian Constitution?
Options :

1. # Fourth

2. % Second

3. % Twelfth

4. ¥ Tenth

Question Number : 75 Question Id : 9679471085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRTg ey & f5a ST ¥ oot-aed fRidh o YEies 82

Options :



1. % Tt
2. % g
3. % gRgdl
4. ¥ Yl

Question Number : 76 Question Id : 9679471086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The I-league is associated with which of the following sports?
Options :

1. ¥ Football

2. % Golf

3. % Badminton

4. ¥ Hockey

Question Number : 76 Question Id : 9679471086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15 FafeRad o 9§ forg we O Heifid g2
Options :

1. ¥ pedid

2. ® Ticth

3. # gsfifeq

4. % Il

Question Number : 77 Question Id : 9679471087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team has won the most number of titles in the [-League?
Options :

1. # Churchill Brothers Football Club



2. % Bengaluru Football Club
3. % Mohun Bagan Athletic Club
4. ¥ Dempo Sports Club

Question Number : 77 Question Id : 9679471087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1T & fope &t A waifies faare offd 82
Options :

1. # gidd 9y Peald o

2. % YIIE PHodid aald

3. % HIg NI QY id

4.« ST WY 90

Question Number : 78 Question Id : 9679471088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these women holds the national record for 400 meters, set at the 2018 Asian Games in Jakarta?
Options :

1. ¥ Hima Das

2. # Dutee Chand

3. % Dhanalakshmi

4. % P.U. Chitra

Question Number : 78 Question Id : 9679471088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STepTell H 2018 TRATE Well H WA 400 Hiex & fo7Q 377 Afgenati # F fog gy Repis gyt feba

Options :

1. ¢ fgara™
2. % gdl g



3. % YoleH!
4, % U1y, oo

Question Number : 79 Question Id : 9679471089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Indian football team qualify for the FIFA World Cup (though they did not participate)?
Options :

1. % 1958

2.9 1950

3. % 1966

4. % 1970

Question Number : 79 Question Id : 9679471089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore qf o YR Heald A A Bit fay HU & T sedl U (@TewbTs) fasar (@Tdifds 361+ YRT 5] form)?
Options :

1. % 1958

2.9 1950

3. % 1966

4. % 1970

Question Number : 80 Question Id : 9679471090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Asian Games did the Indian men's golf team win its first gold medal?
Options :

1. # 1990, Beijing

2. % 1978, Bangkok

3. ¥ 1982, New Delhi

4. # 1994, Hiroshima



Question Number : 80 Question Id : 9679471090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore TRATS Tl H YR 3V e <1 = 301 el W0l e Sl

Options :
1. % 1990, SIfSHT
2. % 1978, dPID
3. ¢ 1982, 7% faeeht
4. % 1994, TR
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9679471091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 55% of 840 — V1296 + 18 x 19
Options :
1. ¥ 768
2. % 700
3. % 842
4. = 744

Question Number : 81 Question Id : 9679471091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATD A DY: 840 DT 55% — V1296 + 18 x 19
Options :

1. ¥ 768

2. % 700

3. % 842

4. % 744

Question Number : 82 Question Id : 9679471092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Evaluate: {(0.63)3—(0.2)3} /{(0.63)% + 0.126 + (0.2)%}
Options :

1. * 0.55



2. % 0.14
3. % 0.25
4.4 043

Question Number : 82 Question Id : 9679471092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AedThel HL: {(0.63) - (0.2)} /{(0.63)2 + 0.126 + (0.2)%}
Options :

1. % 0.55

2. % 0.14

3. % 0.25

4.+ 0.43

Question Number : 83 Question Id : 9679471093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of (17 x 27) — V(815 + V676) - (772 x 1/7) + 25 x 33.
Options :

1. % 412

2. % 413

3.9 408

4. % 498

Question Number : 83 Question Id : 9679471093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(17 x 27) = (815 + N676) — (77% x 1/7) + 25 x 33 DT G J7d DR
Options :

1. % 412

2. % 413



3. ¥ 408
4. % 498

Question Number : 84 Question Id : 9679471094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers which are co-prime to each other are such that the product of the first two is 493 and that of the last two is 957. The sum of the
three numbers is:

Options :
1. % 87
2. % 67
3.¥79
4. % 91

Question Number : 84 Question Id : 9679471094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Tt S U -G @ -3HTT €, Tt § b Ugal &) &7 TUMwd 493 § 3R SifaW 3l &1 uHwd 957 71 < TReamafl &1 i 8:
Options :

1. ® 87

2. % 67

3.¥79

4. % 91

Question Number : 85 Question Id : 9679471095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family consists of two grandparents, two parents and four grandchildren. The average age of the grandparents is 71 years, that of the parents is
41 years and that of the grandchildren is 7 years. What is the average age of the family?

Options :
1. # 32 years
2. % 31.5 years



3. % 30 years
4. % 31.9 years

Question Number : 85 Question Id : 9679471095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T URaR # &Y gre-arel, 3l Ardr-fiar 3ik IR Uia-uifaat €1 2rer-ared) & Sivrd 3img 71 oy, Arar-fdr &t 41 3 3R Uid & 3iyd 31g 7
Iy g | URAR $1 3RId 3T 1 52

Options :

1. % 3299

2. ¥ 31599

3. % 3099

4. % 31999

Question Number : 86 Question Id : 9679471096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With an average speed of 37 km/h, a train reaches its destination in time. If it goes with an average speed of 33 km/h, it is late by 1 hour. Find the
length of the total journey.

Options :

1. ® 341.4 kms
2. % 304.4 kms
3. % 305.25 kms
4. % 321.7 kms

Question Number : 86 Question Id : 9679471096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YS! 37 km/h BT 3N T T, A TR 3104 Tided I Ugd Sl 81 fS T8 33 km/h B ST A A ST 8, A TG 1 e 1 7
Teldl § | B AT Bl ASTS 1l Y|

Options :

1. * 341.4 kms




2. % 304.4 kms
3. % 305.25 kms
4., % 321.7 kms

Question Number : 87 Question Id : 9679471097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a watch was Rs. 840. A man bought the same watch for Rs. 585.48, after getting two successive discounts. If the first discount was
15 percent, what was the second discount rate?

Options :

1. # 17 percent
2. % 14 percent
3. % 15 percent
4. ¥ 18 percent

Question Number : 87 Question Id : 9679471097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TS BT A 840 TUU § | U 3MTeHT A I UG BI & i He U HRA & d1G 585.48 ¥UT H W1 | fS Ugalt ge 15 ufawrd off, ot
GIRI BT R T &

Options :

1. % 17 gfawrd
2. % 14 YfaRd
3. % 15 Yfad
4. ¢ 18 gfaerd

Question Number : 88 Question Id : 9679471098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student multiplied a number by 3/5 instead of 5/4. What is the percentage error in the calculation?
Options :

1. ¥ 52 percent



2. % 51 percent
3. % 49 percent
4. % 50 percent

Question Number : 88 Question Id : 9679471098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uep e = T 1 5/4 & seret 3/5 1 Tqom fpa | 7o wfwra 3fe wn ge
Options :

1. ¢ 52 gid=rd

2. % 519fa=rd

3. % 49 gfd=rd

4. % 50 gfa=rd

Question Number : 89 Question Id : 9679471099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 24 percent of a = b, then b percent of 25 is the same as:
Options :

1. % 4 percent of a

2. % 6 percent of a

3. % 5 percentofa

4. % 3 percent of a

Question Number : 89 Question Id : 9679471099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a = b BT 24 UFARIG, A 25 BT b Ula=Td 9 & T9H 5
Options :

1. % a T 4 Ufc=Id

2. ¢ a1 6 Ul



3. % 5 P 5 YAed
4. % 2 P13 gfaed

Question Number : 90 Question Id : 9679471100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Cricket player scored 140 runs which consist of 4 sixes and 7 fours. What percent approximately of his total score did he make by running?
Options :

1. # 44 percent

2. % 34 percent

3. % 63 percent

4. % 57 percent

Question Number : 90 Question Id : 9679471100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fhdbe RAATet 7 140 T 91T o 4 Badb 3R 7 b AT & | STSH ST U Hd WhR BT THTH [T ufa=rd ure feam
Options :

1. % 44 yfa=rd

2. % 34 gfd=rd

3. ¢ 63 UfcRId

4. % 57 gia=Id

Question Number : 91 Question Id : 9679471101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two tailors X and Y are paid a total of Rs. 400 per week by their employer. If X is paid 150 percent of the sum paid to Y, how much is Y paid per
week?

Options :

1. % Rs. 130
2. ®% Rs. 140
3. ¥ Rs. 150



4. ¥ Rs.160

Question Number : 91 Question Id : 9679471101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l golf X 3R Y I 37 fFiadr gRT Ufd TWTe $d 400 FUT 61 Ho YA fHa1 a1 & 1 afe X BTy B YITdH &1 T8 A BT 150 Tfawra
I foaT STTar 8, Y &1 Ui T fara1 YT o ST g2

Options :

1. % 130>
2. % 140 >4
3. % 150®UU¢
4. % 160U

Question Number : 92 Question Id : 9679471102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the selling price is tripled, then the profit is four times. Find the initial profit percentage.
Options :

1. ¥ 200 percent

2. % 245 percent

3. % 100 percent

4. # 150 percent

Question Number : 92 Question Id : 9679471102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasha Yoo &t i T[T R T SIran 8, &y IR AT 81T § | IR ary Ufaerd 3 &1
Options :

1. ¥ 200 Yfa=rd

2. % 245 Ufa=Id

3. % 100 Yfd=rd



4. % 150 gfa=d

Question Number : 93 Question Id : 9679471103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A makes an item for Rs. 400 and sells it to B at 28 percent profit. B sells it to C for Rs. 640 making a profit of 25 percent. What profit percentage
did B make?

Options :

1. ¥ 25 percent
2. % 23 percent
3. % 20 percent
4. % 21 percent

Question Number : 93 Question Id : 9679471103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A U T BT 400 FUT T 70T § 3R I 28 TI=Id ATH TR B I ST 8| B TH C BT 640 $UT H 9T § 3R 25 U= &1 A1 $4fofd
FaT 5| B A faaHm ary ufa=rad sifsia faam

Options :

1. ¢ 25 Ufard
2. % 23 gfawrd
3. % 20 Ufd=rd
4. % 21 gfa=rd

Question Number : 94 Question Id : 9679471104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit earned when an article is sold for Rs. 1845 is 25 times the loss incurred when it is sold for 935. At what price should the article be sold
if it is desired to make a profit of 40 percent?

Options :
1. % Rs. 1456
2. % Rs. 1358



3. # Rs. 1536
4. % Rs. 1222

Question Number : 94 Question Id : 9679471104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I BT 1845 TUU H g9 TR AfoTd {01 74T 1845 FUL BT ATH , 935 TUT H od TR §3 811 &1 25 TFAT § | 40 IR BT A1H AT B
o fore axq @ ford g IR o= ST A1fge?

Options :

1. # 1456 ®¥UU
2. % 1358 %UU
3. % 1536 U
4, % 1222 34U

Question Number : 95 Question Id : 9679471105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is distributed among A, B, C, D in the proportion of 10 : 7 : 5 : 3. If C gets 500 more than D, then what is the value of money B
gets?

Options :

1. # Rs. 1799

2. % Rs. 1800

3. % Rs. 1400

4. ¥ Rs. 1750

Question Number : 95 Question Id : 9679471105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?TﬁrﬁA,B,c,D$aﬁﬂ10:7:5:3$&Wﬁﬁﬁhﬁmw%lH%cﬁDﬁsoo&mﬁaﬁ%’,a‘rBaﬁWWWﬂjqw
)

Options :
1. # 1799 %UU



2. % 1800 %UU
3. % 1400 ®UU
4. % 1750 24U

Question Number : 96 Question Id : 9679471106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seats for Mathematics, Physics and Biology in a school are in the ratio 3 : 8 : 9. There is a proposal to increase these seats by 40 percent, 50
percent and 75 percent respectively. What will be the ratio of new seats?

Options :

1. % 5:13:21
2.%1:3:19
3.%28:80:105
4. % 2:5:7

Question Number : 96 Question Id : 9679471106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS faemera o T, e SiR Sitq faxT o forg Sfiel &7 SrguTd 3 : 8 : 9 81 39 HTel &I ShHRT: 40 IR, 50 UTA=Id 3R 75 Wia=d ¥ Sg™
&1 URTd § | 715 Tiel BT 3UTd o1 g1

Options :

1. % 5:13:21

2.%1:3:19

3.4 28:80:105

4. % 2:5:7

Question Number : 97 Question Id : 9679471107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The incomes of A, B, and C are in the ratio of 2 : 5 : 7 respectively and their spending are in the ratio of 5 : 8 : 10 respectively. If A saves half his
income, then the savings of A, B, and C are in the ratio:

Options :



1.¥5:17:25
2. % 3:34:19
3.%2:13:17
4. % 1:5:19

Question Number : 97 Question Id : 9679471107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,BIRCHI SMAHA:2:5: 7% A H g AR STHT T HHI: 5: 8: 10 P U A &1 A A 30T 31eh ST Farar g, A A, B 3R
C & §9d g U A &:

Options :

1.9¥5:17:25

2. % 3:34:19

3.%2:13:17

4. % 1:5:19

Question Number : 98 Question Id : 9679471108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of 'metal 1' and 'metal 2' in Alloy 'A'is 1 : 4. In Alloy 'B' same metals are mixed in the ratio 3 : 7. If 30 kg of Alloy 'B' and 15 kg of
Alloy 'A' are mixed then find out the ratio of 'metal 1' and 'metal 2' in the new Alloy.

Options :

1. * 13:31
2. % 12:31
3.9 4: 11
4. % 13:33

Question Number : 98 Question Id : 9679471108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e A H oTg 1 3R oTq 2 BT 30Td 1 : 4 8 | ST B & THM U1l &1 3 : 7 % Surd & faman T g | afe fAsng ‘B & 30 kg 3R
fRremg 'A' & 15 kg TS fopu ST € oY 7T g & rorq 1+ 3R 'oTq 2! T ITd J1d He |



Options :

1. % 13:31
2. % 12:31
3.9 4: 11
4, % 13:33

Question Number : 99 Question Id : 9679471109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the rate of interest of the principal amount of Rs. 45,000 to Rs. 49,000 in 4 years at simple interest? (Correct up to one decimal place)
Options :

1. ¥ 2.2 percent

2. # 2.9 percent

3. % 3 percent

4. % 4.1 percent

Question Number : 99 Question Id : 9679471109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTRUT STST TR 4 T4 H 45,000 U F 49,000 TAT P e AT P TS &2 1A B2 (TP U R d% el §)
Options :

1. ¢ 2.2 gfa=rd
2. % 2.9 gfard
3. % 3 gfavrg

4. % 41 gfaerd

Question Number : 100 Question Id : 9679471110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amount of Rs. 14,000 was invested by A dividing it into two different schemes X and Y at a simple interest rate of 9% and 21%. What was the
amount in plan X if the amount of interest earned in two years was Rs. 46757

Options :



1. ¥ Rs. 5020.83
2. % Rs.5700.13
3. # Rs. 6435.57
4. * Rs. 8400.9

Question Number : 100 Question Id : 9679471110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14,000 YT 1 M BT A A GRT 9% 3R 21% BT FIYRUN SIS &G W &I S-SR Ao X SR Y H fauTiord sas fovar ma
o X H fpant i o afe gt auf & sifofd surst o1 MR 4675 TUT 2

Options :

1. ¥ 5020.83 U

2. % 5700.13 24U

3. % 6435.57%UU

4. % 8400.9 2UU¢
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Question Number : 101 Question Id : 9679471111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A part of 29,000 is lent out at 2% for one year. The rest of the amount is lent out at 9% per annum after one year. The ratio of interest after 3
years from the time when first amount was lent out is 2 : 11. Find the second part that was lent out?

Options :

1. ® Rs. 6754
2. % Rs. 11000
3. % Rs. 7346
4. % Rs. 7666

Question Number : 101 Question Id : 9679471111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29,000 T T 3T Th a9 F foIT 20 TR IR e T 81 A9 I T a8 & a1 Ul a8 9% Pt ax T IYR & 718 & | Uit AR YR A P
TG X 3 T 1 STST BT ST 2 - 11 8| GERT I J1d B o IYR f&am 7 om

Options :

1. % 6754 30T

2. % 11000 3T

3. % 7346 YT

4. % 7666 TT




Question Number : 102 Question Id : 9679471112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a store, the profit is 240% of the cost. If the cost increases by 30% but the selling price remains constant, approximately what percentage of the
selling price is the profit? (Correct up to two decimal places)

Options :

1. # 61 percent

2. ® 75.08 percent
3. % 60.98 percent
4. ¥ 61.75 percent

Question Number : 102 Question Id : 9679471112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o, ATY AT BT 240% & | Al AT H 30% B1 Iig Blail © Qi (9sh! Hed FRR g1 ], <1 ek ! Ted BT TTHAT foa ufer=rd ey
g1 87 (G SXHAd R I el 6)

Options :

1. % 61 Ufa=rd

2. % 75,08 Ufa=rd
3. % 60.98 Ufa=rd
4. ¥ 61.75 Ufa2rd

Question Number : 103 Question Id : 9679471113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An aeroplane covers a certain distance at a speed of 333 kmph in 4 hours. To cover the same distance in 5/3 hours, it must travel at a speed of:
Options :

1. ¥ 799.2 km

2. % 7774 km

3. % 770.9 km

4. % 670.7 km



Question Number : 103 Question Id : 9679471113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g%?éwm%ﬁsss kmph @1 7T ¥ T (AT g Ta Hra1 8| S g & 5/3 9 T T A & o, I fobat fd & s et
Options :

1. ¢ 799.2 km

2. % 777.4km

3. % 770.9 km

4. % 670.7 km

Question Number : 104 Question Id : 9679471114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can travel 60% faster than a car. Both start from point A at the same time and reach point B 70 kms away from A at the same time. On the
way, however, the train lost about 12.5 minutes while stopping at the stations. The speed of the car is:

Options :

1. % 156.9 km/hr
2. % 150.7 km/hr
3. % 126 km/hr

4. % 136.22 km/hr

Question Number : 104 Question Id : 9679471114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YS! BR D1 AT H 60% ool T B Taball 6| 1 U ol T IR g A T TE B & 3R U & 999 R fdg A ¥ 70 kms GR [
B IR UEAd g | gTaifdh IR & TIF TR FH & GRM SeTTS! Bl Hg 12.5 e & Jua J S g1 T8 | SR &1 11 8

Options :

1. * 156.9 km/hr

2. % 150.7 km/hr

3. % 126 km/hr




4. % 136.22 km/hr

Question Number : 105 Question Id : 9679471115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels for 18 hours in total. The first half was covered on a bike at 60 km/h and the second half in a car at 85 km/h. What is the total
distance travelled by him? (Correct up to two decimal places)

Options :

1. ¥ 1266.21 km
2. % 1500.92 km
3. % 1412.38 km
4. % 1001.23 km

Question Number : 105 Question Id : 9679471115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueb STGH! Bl 18 T I U B ¢ | U8 318 HIT BT 60 km/h BT 7Tl A ST9eb TR 3R G 318 HIT D1 85 km/h 1 7T § BR H e
ST T 4TI ISP GRT T 1 T3 Hdl gul ol 52 (41 GAAT R db Ta! 8)

Options :

1. ¥ 1266.21 km

2. % 1500.92 km

3. % 1412.38 km

4. % 1001.23 km

Question Number : 106 Question Id : 9679471116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do 30% of a piece of work in 9 days. How many days will he take to complete the work 15 times?
Options :

1. % 300 days

2. % 400 days

3. % 330 days



4. ¥ 450 days

Question Number : 106 Question Id : 9679471116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tt B BT 30%, 9 & & R b1 g1 98 B B 15 TR W HA | fbaq a7 A
Options :

1. % 300 feA

2. % 400 faA

3. % 330feA

4. 450 &

Question Number : 107 Question Id : 9679471117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 13 days and B in 21 days. If they work on it together for 7 days, then the fraction of the work that is left is:
Options :

1. % 23/273

2. % 35/273

3. % 33/240

4. % 31/240

Question Number : 107 Question Id : 9679471117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH BRI B 13 AT H SR B 21 &l & R Gba1 81 IfE 3 39 R U 1Y 7 &1 db 1 v 8, ol AW B T 32 3
Options :

1. % 23/273

2. % 35/273

3. % 33/240

4. % 31/240



Question Number : 108 Question Id : 9679471118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 10 hours; B and C together can do it in 8 hours, while A and C together can do it in 6 hours. How long will B alone
take to do it?

Options :

1. ¥ 11/3 hours
2. % 17/5 hours
3. % 120/7 hours
4. % 120/11 hours

Question Number : 108 Question Id : 9679471118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B DI 10 G T B Tl g; B 3R C TP 38 8 6 T H Thd &, 9P A 3R C AT 3 6 G A B gD o | 3hdl B P 3
®H H foa= 97 T

Options :

1. % 11/349¢

2. % 17/54¢

3. ¢ 120/7 €¢

4. % 120/11 °9¢

Question Number : 109 Question Id : 9679471119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 40% more efficient than B. How much time approximately will they take to complete a job, working together, which A alone could have
done in 35 days?

Options :

1. # 14 days
2. # 19 days
3. % 22 days



4. ¥ 20 days

Question Number : 109 Question Id : 9679471119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B & AT H 40% 3HTIH FRIA 8 | U 1Y HTH B U, 38 TP DI T B & aHAT fbd=1 T @, o A siha 35 fei A qmt
DR Gl UI?
Options :

1. % 14f&T
2. % 19faq
3. % 22 faq
4. 20f&T

Question Number : 110 Question Id : 9679471120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface areas of two spheres are in the ratio of 3 : 4. Find the ratio of their volumes.
Options :

1. ¥ 3\3/8

2. % \3/4

3. % \2/6

4. % 3/4

Question Number : 110 Question Id : 9679471120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Tl & N & 3 ¢ 4 % SFUTT | g | 3 3T T 0T J1d B |
Options :

1. v 33/8

2. % 3/4

3. % \2/6



4. %= 3/4

Question Number : 111 Question Id : 9679471121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube with a diagonal measure of 45V3 cm has been reformed into a cuboid. Find the height of the cuboid if the length and breadth of the
cuboid measure 140 cm and 50 cm. (Correct up to two decimal places)

Options :

1. ¥ 13.02 cm
2. % 13 cm
3.% 129 cm
4. % 14.1 cm

Question Number : 111 Question Id : 9679471121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45V3 cm & fq& U] AT & G- &1 GTH T G: ST 1 § | ITH B SalTs J1d B e, T D1 dalTs 3R IS8T 140 em 3R 50 cm § 1 (&
YA R db Tal 7)

Options :

1.4 13.02 cm

2. % 13 cm

3. % 129 cm

4. % 14.1 cm

Question Number : 112 Question Id : 9679471122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hollow spherical shell is made of a metal of density 3.7 g/cm?. If its internal and external radii are 7 cm and 11 respectively, find the mass of
the shell?

Options :
1. ® 16545.99 gm
2. % 15227.89 gm



3. % 16543.616 gm
4. ¥ 15318.7 gm

Question Number : 112 Question Id : 9679471122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP WRIAT MATHR TG 3.7 g/em3 T BT TV &1 3 | TS STqDT 3R 3R I8 B0 HH: 7 em 3R 11 §, 6 G &1 Gq0q= I1d
G2V

Options :

1. % 16545.99 gm

2. % 15227.89 gm

3. % 16543.616 gm

4. 15318.7 gm

Question Number : 113 Question Id : 9679471123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following are the marks scored by A in different subjects in an exam.
If he got a total of 800 marks and the passing marks is 100 find the subject in which he failed.



Marks obtained ( in percentage)

Options :

1. ® History
2. ® English
3. ® Hindi
4. ¥ Science

Question Number : 113 Question Id : 9679471123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TRYe H [l fawel § A gR1 U sies fAafaRad 7
g I8 P 800 i A & 3R ST i 100 & A I8 FawT 1T X oI T8 S0l g ol



e i (wfa=ra ®)

Options :

1. % sfagr
2. % 3l
3. % fgdt
4.« fagm

Question Number : 114 Question Id : 9679471124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The monthly attendance of a class is given. Find the average attendance of the given months.



Month Attendance
January 55
March 65
April 72
June 48
July 20
Options :
1. % 64
2. % 25
3. % 78
4. % 60

Question Number : 114 Question Id : 9679471124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &l 1 IR IR <1 778 81 fou T 1=t ot aiya Sufufa 3ma &3

e Sufaufa
A 55
AT 65
S 72
Eul 48
qars 80
Options :
1. ¥ 64
2. % 25

3. % 78



4. % 60

Question Number : 115 Question Id : 9679471125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average daily income of 100 workers during a certain week is given.

Calculate the percentage difference of the number of workers whose daily income is more than Rs. 1000 than the workers whose daily income is
less than Rs. 900.

IDaih_.r Income Number Of
{ In Rupees) Workers
700-800 10
800-300 10
900-1000 18
1000-1100 30
1100-1200 15
Options :

1. * 120 percent
2. % 110 percent
3. % 125 percent
4. * 75 percent

Question Number : 115 Question Id : 9679471125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To fAf3d Iwe & SR 100 4fH! BT 3d 2R s i e B
3 i Bt TReAT & TIA=Td SR Bt 0T 3 ot Sfes 31T 3 4ifies! &t ga1 o 1000 ¥UT J 31f¥e g et ¢ 3ma 900 TuT &



G

e ama It cakel
(FUT H) @&
700-800 10
200-900 10
300-1000 18

1000-1100 30
1100-1200 15
Options :
1. % 120 gfawd
2. % 110 Ufa=Id
3.4 125 gfaerd
4. % 75 gfaerd

Question Number : 116 Question Id : 9679471126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the percentage distribution of the expenditure incurred in publishing a book.
What is the difference in central angle of the sector corresponding to the expenditure on royalty to the sector corresponding to the expenditure on



binding?

Expenditure ( in percentage)

Options :
1. % 22.4°
2.9¥ 252°
3. % 26.2°
4. % 21.2°

Question Number : 116 Question Id : 9679471126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafied TS 91¢ U GXde &1 UHIRId HR- H [T T8 0 & Ufa=id faavur & =il g
fTegac] IR 0 & dqRIHT &3 &1 JAgee! IR T & dqRIT &F & H41g B0 H a7 3R 82




Options :
1. % 22.4°
2.9 252°
3. % 26.2°
4. ® 21.2°

Question Number : 117 Question Id : 9679471127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks obtained by students in a class test is given.
Calculate the adjusted frequency of the students whose marks are between 20-29.



En el 5?
50 - 44

i3

25
30 4

a0 A 17

Mumber of students

10

0-9 10-15 20-29 30-39 40-49
Marks

Options :
1. % 33
2.9 44
3. % 28
4. % 45

Question Number : 117 Question Id : 9679471127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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0-5 10-15 20-25 30-39 40-43

Options :
1. % 33
2.¥ 44
3. % 28
4. % 45

Question Number : 118 Question Id : 9679471128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given data shows the frequency of different class interval. Calculate the mean.



100 -
a7 a1
80 -

73

70 -

Frequency

20 4

10 4

0-10 10-20 20-30 30-40 40-50
Class-Interval

Options :

1. ® 17.35
2. % 2542
3. % 4417
4. ¥ 2691

Question Number : 118 Question Id : 9679471128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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